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Dear Mr Java,

| have learned you a lot since the beginning. Today’s topic was File I/O.
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This is an assignment for the topic. It says there are two files.
One is supposed to be appended into the other.

| will do my bestl!

Thanks
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vector ixt vector2. ixt:
1 4
2 5
3 6

>java Assignment10_3 vector1 .txt + vector2.txt vector3.txt

vector3.txt:

S
7
9

>java Assignment10_3 vector1 .txt - vector2.txt vector4 txt

vector4 txt:
-3
-3
-3
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>java Assignment10_4
EIREE 1 (2)
BIRER 2ukkkkx (D)
EBIRAT Sakkkkrkk (Q)
BIRER 4ok (3)
EIREZ 5 (1)
-- Press any key to exit (Input “¢” to continue) —-



